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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Ql. fFr=ferRaa woat # & Uceh T IT T 150 visat ® iU

Answer the following questions in about 150 words each : (10x5=50)

(a)

(b)

(¢

(d)

(e)

PHKM-U-LOH

AGTHT AHeh-7 (T TH-7) o TEw ! Halq § T T |

Briefly explain the significance of Accounting Standard-7 (AS-7). 10

T FIRTT 6 Foe swront & shufaat e S it ot © | Tge IR, oee SR |
Fa R iR € 2

Explain why the companies issue right shares. How are right shares
different from bonus shares ? 10

e o SifebT shuft 3t SraEaeT o HEd qeqra! ot T hifs |

Discuss the main aspects of audit of a banking company in India. 10

AT SRR AT, 1961 % STTER A G § AT o Sfaria e feran
ST aTfifens foRtrT ohY Tttt AT | 38 Ueh 3ETeToT ST T5e ShITSIT |

Define fair rent and annual rent under income from house property as
per Indian Income Tax Act, 1961. Explain it with an example. 10

ST AT (RS T ® 2 I8 UhshAT ST (I HifeT) § R yeR e @ 2
HHATRT |

What is job costing ? How is it different from process costing ? Explain. 10



Q2. (a)

PHKH-U-LON

A fafies 7 B fafiee & =aaw &1 iR fen R, e qom-m

319/, 2024 ! 39 JHR & :

foreror (%) (T)
I - Sferret ual aoamd
1. TR fAfREt
(a) FEEAITEH (T 100 9f) 16,00,000
6% SATRHT TR it
@ 10050 8,00,000 |  24,00,000
(b) RfEfaat ua rfery
ISfi Ee 2,00,000
NIEEEIRRCIN 1,00,000
ey arfeaf e |
(R 3T T 10,000) 16,000 3,16,000
9. AYHTAd SIaTd
» 6% T (fesi=rd) 4,00,000
3. e aFdTg -
TR 3 2,40,000
EREISEERIY
(EEUN'aﬁ (f:e.ﬁaﬁ) ‘R"&HW) 24,000 2,64,000
™ 33,80,000
11 — fErafat
1. AvEfdd giErafoat
(a) TWIfT, G TS ITHT
It 3R v 8,00,000
BRERCRMIEH 12,00,000 |  20,00,000
(b) I afERfET
| (i) 4,80,000
4z 1,00,000 5,80,000
9. ey uftEwaft
(a) ¥ 3,00,000
(b) AR Srfteaat 3,60,000
(c) TRl & Tehell THIA 1,40,000 8,00,000
™ 33,80,000




A fafie =it avft afteraft (Fehdt i Breeht) ST aTeTt (FOTTE T 3T A
BIgehT) i 31U el HET & 3R FraferRaa it 1 s i 1 sferepr fea

TR

() T 4,00,000, 7% FOGET (F3% T 100), ST A ffiees # € 3% Bfafiee &
Wwﬁ%%ﬁ;wuﬁm%%ﬁ,A%ﬁ%@%mwmu@
T 105 i 7MT ST |

Gi) B fafire & vdie 1Rmm IR & g T 10 fa R 7aet @ A fafiees
9% AT X T 100 Ife IR f&=m S |

Gii) B feifie # yede $fadt S & forg & 20 i SRR 7o o A fofiee 4 o
et R T 100 o, FSraeT SR AeT T 140 €, fearsmem)

(iv) B fefiree & ufwmmo & @t i qfd A fafies g 20,000 oo st Him ae
Y STurt, STaifer aredfaes @9 1 T T 25,000 ® |

A fafiee F g % sewd @, B fafiee i off 7 wa7 %1 72 T 11,00,000,

i F T T e T 13,00,000 T4 HTHET T 40,000 HleAT R |

A fefire qo B feafiree ot et # Strareres Ustmrn Sfafeat s |
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A Ltd. has acquired the business of B Ltd., whose Balance Sheet as at

315t March, 2024 is as under :

Particulars (%) (%)
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Equity Share Capital
(T 100 each) 16,00,000
6% Preference Share Capital
(T 100 each) 8,00,000 24,00,000
(b) Reserves and Surplus
Capital Reserve 2,00,000
Profit and Loss Account 1,00,000
Workmen Compensation
Reserve (expected liability
Z 10,000) 16,000 3,16,000
2. Non-Current Liabilities
6% Debentures 4,00,000
3. Current Liabilities
Trade Payables 2,40,000
Other Current Liabilities
(Interest payable on 24,000 2,64,000
debentures)
Total 33,80,000
II - Assets :
1. Non-Current Assets
(a) Property,
Plant and Equipment
Land and Building 8,00,000
Plant and Machinery 12,00,000 20,00,000
(b) Intangible Assets
Goodwill 4,80,000
Patents 1,00,000 5,80,000
2. Current Assets
(a) Inventories 3,00,000
(b) Trade receivables 3,60,000
(¢) Cash and Cash equivalents 1,40,000 8,00,000
Total 33,80,000
g




PHKM-U-COW

A Litd. was to take over all assets (except cash) and liabilities (except for

interest due on debentures) and to pay the following amounts :

(i) T 4,00,000, 7% Debentures (¥ 100 each) in A Ltd. for the existing

debentures in B Ltd.; for the purpose, each debenture of A Ltd. is to

be treated as worth ¥ 105.

(ii) For each preference share in B Ltd. ¥ 10 in cash and 9% preference

shares of ¥ 100 each in A Ltd.

(iii) For each equity share in B Ltd. ¥ 20 in cash and one equity share

in A Ltd. of ¥ 100 each having market value of ¥ 140.

(iv) Expenses of liquidation of B Ltd. are to be reimbursed by A Ltd. to

the extent of ¥ 20,000. Actual expenses amounted to T 25,000.

A Ltd. valued Land and Building at ¥ 11,00,000, Plant and Machinery

at ¥ 13,00,000 and Patents at ¥ 40,000 of B Ltd. for the purpose of

amalgamation.

Pass necessary journal entries in the books of A Ltd. and B Ltd.



(b) A fafies 319, 2024 Ft F=TIRIT ToH-95 Td FA 2 -

foraor T (TMH) | T (FERH)
I - 3ferret uat e
1. IRy Pt
(a) ﬁ'ﬂtﬁfﬁ
T 10 9fa =R F 6,00,000
HEECIRNEIAS IR 6,000
A & Ioh §
T 100 Ifd IR a1,
40,000, 9% AT IRR 4,000 10,000
(b) TRfEfaat qur tferery '
‘i’sﬁ"'ﬁf srfafe 20
T Tt 8,000
sfergfer siferr 1,000
AT & B @ 3,600 12,620
9. IYETAId SIATd
10% o193 800
3. el aFamd
&IT‘JITF{EFéa’ 80
A 23,500
11 — ufEvaft
1. Svaford ufErafaat
(a) wwaf, G977 U IUHT 5,500
(b)  3TyEfera AT (SATTd W) 10,000 15,500
9. e @R
(a) ¥ 2,000
(b) AR FTfeaat 4,000
(c) ToRdl T TR THH 2,000 8,000
kol 23,500

AT T T 15 Ffd T T I W I St it 3 20% IR A19H Tle H T
it fohaT | 39 3eva % o, St F o T 60 @ & faw R < 50 @ A 99
feam

A fofres #i qeashi #§ stravaes Ustme gfafteat Hife For S 6t [Eiie & T
- AR I |
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A Ltd. furnishes the following Balance Sheet as at 315 March, 2024 :

Particulars T (in 000) Z (in 000)
I - Equity and Liabilities :
1. Shareholders’ Funds

(a) Share Capital
6,00,000 Equity shares of 6,000
¥ 10 each fully paid up

40,000, 9% Preference
shares of T 100 each 4,000 10,000

(b) Reserves and Surplus

Capital Reserve 20
Revenue Reserve 8,000
Securities Premium 1,000

Profit and Loss Account 3,600 12,620

2. Non-Current Liabilities
10% Debentures ~ 800

3. Current Liabilities
Trade Payables 80

Total 23,500

IT - Assets :

1. Non-Current Assets
(a) Property, Plant and

Equipment 5,500
(b) Non-Current Investments
(at cost) 10,000 15,500
2. Current Assets
(a) Inventories 2,000
(b) Trade receivables 4,000
) S(?:;:l‘;itgash 2,000 8,000
Total 23,500

The company passed a resolution to buy back 20% of its equity capital
@ T 15 per share. For this purpose, it sold its investments of ¥ 60 lakhs
for T 50 lakhs.

You are required to pass necessary journal entries in the books of
A Ltd. and prepare Balance Sheet after buyback of shares. 15

PHKW-U-COW g



(c)

Q3. (a)

PHKW-U-COW

(i) vy SRR AfifEm, 1961 % Sfaia stewfer S ddefers dofma
T % SR i fafr 1 Sear Hifv |

State the methods of computation of Short-term and Long-term
capital gains under Indian Income Tax Act, 1961.

(i) R TR SAferiarm, 1961 it amr 50 ¥ it qeagr-a gfwraft &
EEATAHYT 6 et # YSiTa o 3 fermt o6t Seorg Hifv |
State the rules of capital gains in case of transfer of depreciable
assets under Section 50 of the Indian Income Tax Act, 1961. 15

g 2024 % WEN % W, T 2000 THEET H AL T ST T | HHET T
ffefe = 5% gt foram mam | 7 % o1 #, 1400 FHTEET F1 IearE fpa T
R 3T swreft wheam & sfqwor fem mn, R & 460 At ot off sk
140 AT T Febrer () foam T | 7% S o1 i sret sehTeat, SeaTed &
freferRad v qe ug of

qmft  75% TR

9 50% TR T

YT 50% I & T
091 1 7§ 2000 FHIET A AR T 5,800 oft | TEHAT 35 2R e o TS Srewrey wneht
T TRT T 1,440 oft | TR 9T T 1,670 AT IeAET 5T T 3,340 o7 | G
forprett 7 (&) 391 W = 1 f gohrd Srer foma T | el 8 (S st
TSR & T T off, o wmnft, s st sufera % w@ay § 100% w1 @ A
forar mar o |
el et foramor G e e T R
(i)  EHqe IcdTeH i faar;
(ii) T IR YR T forao,
(iii)  SfsFaT-I @TeT; 3R
(iv)  TEM= g @ |



(b)

(c)

Q4. (a)

PHKW-U-COW

During the month of May 2024, total 2000 units were introduced into
Process-I. The normal loss was estimated at 5% on input. At the end of
the month, 1400 units had been produced and transferred to the next
process, 460 units were incomplete and 140 units had been scrapped. It
was estimated that incomplete units had reached a stage in production
as follows :

Material 75% completed
Labour 50% completed
Overheads 50% completed

The cost of 2000 units introduced was ¥ 5,800. Direct material
introduced during the process amounted to ¥ 1,440. Production
Overheads incurred were T 1,670 and Direct Labour was ¥ 3,340. Each
unit scrapped was realized at ¥ 1 each unit. The units scrapped have
passed through the process, so were 100% completed as regards
material, labour and overheads.

You are requested to prepare the following statements :

1) Statement of Equivalent Production;

(ii) Statement of Cost and Evaluation;

(iii) Process-I Account; and

(iv) Abnormal Loss Account.

AT SREi GLEraT #hi Tk JuTTelt ¥ 7 R wrareta (fee-Héw), J He hi JATH °
Fea 3t 2, TitaRE H i 3 2 o sTafive e w2 17 A g &
1Y 39 HY I THIATIT |

“Cost Accounting is a system of foresight and not a post-mortem, it turns
losses into profits, speeds up activities and eliminates waste.” Explain
the statement along with your viewpoints.

Ty SraTadien wd ofEr St # e a1 S 7 IO Aled AT G0 T8
hifsre |

What are the key differences between Special Audit and Accounts
Investigation ? Give your viewpoint along with examples.

it Y @) (59 a¥) # @ ad 2023 -24 % INH A da4 F &9 H
Z 7,90,000 3R IE F &I H T 1,18,000 firet ¥ | 36k TETET, WES W o AR
T (S 3 T R R) T 52,000 T 37 FIT TS HRGR (A1) T 4 Tfawrd
Ffiyr oft e & | a3 S, 3R T 90 1@ ol HRITR (SH16R) e foham 2 |
i A= wr wiesr ffr oifade $e) § T 2,24,240 #T ANEE @ R
30 TR, 2023 i, 10 Sfara i e @, wiesy Ffr & T 40,000 =1 & TR T SH
f3F T R | 3% T 450 ufT e (3¢ & faw) 3R T 80 it wE (31 * foIw) wre
1 = oft firetar 2 | ST srat o forw e ot e @A T 1,80,000 ®© (S
% 1,10,000 aet Y (3TE) ZRT ST ht I ATt 29 H 2) | e o 3

/]

20

15

15
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TferpTicr o f3sft 339 & fow 1800 it Y wR Iuersyr St & 3k F &1
T T T T [ 79 shot Te A 2 | AT I % AR, HR H el
Wwe5srﬁrm%| 1 TR, 2023, ﬁs%glsatﬁmmn @ st
¥ 6,000 St HTE SFTa™ et & | ST Ao Grafer & 317 < 1,65,000 2 |

¥ W=, T fFferfaa Qe st s st @

()  wiasr fAfr & st e = 3,36,360 |

(i) 1 Sftew sfmr fifiem W 2 9,000 (sfifira Tfit = 80,000, fmeht diferdt
faomer 2018 & &t 7€ oft) |

(iii) TATEH VIIT & fomam i avem T 11,000 |

(iv) &6 o2 o Sfa sfar e w (S 379 w3 78 8) T 4,000 F1RR
(@ Tfsr = 1,00,000 ?) |

(v)  STeh! HraTsit (St 80 I &Y ¥) St 3T W e E, %Gﬁaﬁﬂmsﬂﬁmw
T 2,000 TNTeF R |

(vi) "R Twafe Tied & fora, for e sweor o1 gofmam < 21,000 R

forarfire s e & e streher O 2024 — 25 ¥ AT it Y @) B A
T T Feior AT | arer & g 80 o 3 ded I JTelt Feher A TRT Y TOET

hifere |

Mrs. Y (59 years) receives ¥ 7,90,000 as basic pay and ¥ 1,18,000 as
bonus during the previous year 2023 — 24. Besides, she gets ¥ 52,000 as
Dearness Allowance (forming part of salary) and 4 percent commission
on turnover achieved by her. During the year, turnover achieved by her
is ¥ 90 lakh. The employer contributes ¥ 2,24,240 towards recognised
provident fund. The amount of interest credited to provident fund on
30 November, 2023 at the rate of 10 percent comes to T 40,000. She also
gets child education allowance of ¥ 450 per month (for daughter) and
¥ 80 per month (for son). Cost of education is approximately ¥ 1,80,000
for two children (out of which ¥ 1,10,000 is tuition fees paid by Mrs. Y).
The employer company provides 1800 cc car to her for official and
private purpose and incurs the entire expenditure on running and
maintenance of the car. Personal use of the car as per log book is
approximately 65 percent. With effect from 1 November, 2023, she gets
a driver to whom the company pays ¥ 6,000 per month. Her income
from house property is ¥ 1,65,000.

During the year she makes the following contributions and
investments :

(1) Own contribution towards provident fund ¥ 3,36,360.

I



(b)

(c)

(ii) Insurance premium on own life ¥ 9,000 (sum assured ¥ 80,000,
policy taken in December 2018).
(iii) Contribution towards NSC VIII issue ¥ 11,000.

(iv) Insurance premium on the life of major son (not dependent on her)
T 4,000 (sum assured T 1,00,000).

(v) Insurance premium on the life of her mother (age 80 years)
dependent on her ¥ 2,000.

(vi) Repayment of loan taken to purchase house property ¥ 21,000.
Determine the taxable income of Mrs. Y for the assessment year
2024 — 25 under regular tax regime. Also calculate Gross Qualifying
amount under Section 80 C. 20
Wt e fifRm, 1961 % SIER, Ifife qoasm 1 @ 38M % g
FHI-E 31 ST & ? U Foreqa 3aTetoT g 39 9wHTSy |

What are the conditions required for availing of additional depreciation

as per the Indian Income Tax Act, 1961 ? Explain with a detailed
example. 15

T TR Gt % e ST STt RaTeiET % fore wewel srehferee forrgat At
foream @ fdamT AN | T8 ST I % AT ST T AETE # S
o e 2 ?

Discuss in detail the important checklist points for a smooth and
effective audit of non-profit making organisations. How is it different
from the audit of modern day business organisations ? 15

wvs B
SECTION B

Q5. FrafeRaa oAl § & U w1 IR T 150 WeaT A GG
Answer the following questions in about 150 words each : (10x5=50)

(a)

(b)

(c)

PHKW-U-CON

fomifir (wiaRe) gried i afenfya Hife | foerr s st & i i v
T | |er & ST IaTET TG HINT |

Define corporate restructuring. Differentiate between mergers and
acquisitions. Also give suitable examples. 10

TET SIS S S SIS o sty ST T TS | T s o forg o oft o fifer
1 A Reerfa T aHEsT |

Distinguish between money market and capital market. Explain the
present state of RBI policy for the money market. 10

fareta weie 3 SRyt S R AT | -1 TrehaHieRtoT T EdieT Sevd © 2

Discuss the objectives of financial management. Why is
wealth-maximization the preferred objective ? 10

174



(d)

(e)

Q6. (a)

PHKN-U-LOW

“OR i TSI, Wl & wdaerr ¥, 93¢ Ud geuatedd § |7 39 YA i Samen
shifse |

“Indian capital markets are sound and well-structured under SEBI’s
supervision.” Explain this statement.

“feritar waer  frarer wefelt oty formdiioor st foraeor wateft fofat & srfires Temerge
BId & |” 39 o & fag=mr AT |

“Investment decisions are more important than financing and
distribution decisions in financial management.” Discuss this statement.

BE 99 79, T 3,00,000 ¥ UF 73 GHE T | T T 1,80,000 ik e qh
BT foham T 2 | forr forelt vy g %, saeht enifden Sfie 15 ot | A =
w3 T T 4,50,000 AT i 7 W & TAeifUa fpem Sar 8, dF et 10 a8t &
foTT Ferrer AT Bt € 60,000 & %W fHAT ST HeRAT © | [T TR R ot = 10,000
H S S ER | GST A A 10% ® | AS W R e 9 % Sfe et #
¥ 50,000 SR qeof o BT Hief {aT STTER W FTiad faham s |

T fora S, st R 55% B SR NPV (A b o) faftr s i # ge

TS foh QT Wit et @t =fee ar = |
A e W 10% W Frferfaa & -
ad 1 | 2 g | 4 Hk 6 7| 8

A J 1 | 0.909 | 0-826 | 0-751 | 0-683 | 0-621 | 0-564 0-513 | 0-467

Six years ago, a machine was purchased for ¥ 3,00,000. It has been
depreciated to a book value of ¥ 1,80,000. Its economic life was
15 years with no salvage value. If this machine is replaced by a new
machine costing ¥ 4,50,000, the operating cost would be reduced by
¥ 60,000 for the next 10 years. The old machine could also be sold for
¥ 10,000. The cost of capital is 10%. The new machine will be
depreciated on straight line basis over eight years life with ¥ 50,000 as
salvage value.

Assuming the company’s tax rate to be 55% and using the NPV method,
state whether the old machine should be replaced or not.

The present value factor at 10% is as follows :

Year | 1 ' 3 4 5 6 i 8

PVF | 0-909 | 0-826 | 0-751 | 0-683 | 0-621 | 0-564 | 0-513 | 0-467

17

10

10

20



(b)

(c)

Q7. (a)

PHH-U-CON

forfta fofat & Sifaw-seam % e Sqem s (Feeh-fied ge-31) ot fererr
Hifre | e i |

Discuss the risk-return trade-off in financial decisions. Give examples. 15

1Y G Sleh (fTaRT) ShY HIAT 6T IO 8 HaT ? AT & WY Jutereh (ferare)

3 TS T UL IS Afed JUM hITST |

How will you measure the degree of combined leverage ? Also describe

the effects of combined leverage along with suitable examples. 15

T HYAT & G HUSH o Ie1eT sl 15,600 FH1SAT & Hrl-& o foTe wrfeficr
W%mewmwmm%lﬁmﬁiﬁaﬂmm%ﬂ
m%‘

(31 ¥ 3T ARTa o forsh e -

T I Z 90
oH T 40
ELlicp) T 75
F 205

™ T 60

CERR ] T 265

@) () heaT e SEa U HIE o i 4 i e |
(ii)  Fea AT FHutoaTeT § SfiEan 3t awdre &l e |
(iii) AT HTST ST U WIS o Wik H @Al ¢ |
(iv) STYfderdiatl SR Sa AT Toh HIE i € |
(v) IR A ATEAE@AARH S |
(vi) nmﬁwmﬁﬁaw%wm%l
(vii) ITTE 3 STa & forewe Th AIE I € |
IS T 20% ohe ST ST € | &A1 Uk T 60,000 STATHA @ | F€ WHT STTell

2 o5 Icare oY i gHH &9 @ S §, mﬁamﬁmmﬁsmmﬁ%aﬁ%%
3T 4 TR, Teh 018 & T ¢ |

/4



The Board of Directors of a company asks to prepare a statement
showing working capital estimates for a level of activity of 15,600 units
of production. The following information is available for calculation :

(A)  Per Unit Cost and Selling Price :

Raw materials T 90
Labour T 40
Overheads T 956
T 205
Profit T 60
Selling Price T 265

(B) (i) Raw materials are in stock on an average for one month.
(i) Raw materials are in process on an average for two weeks.
(iii) Finished goods are in stock on an average for one month.
(iv) Credit allowed by suppliers — one month.

(v)  Credit allowed to debtors — two months.
(vi) Lag in payment of wages — 1% weeks.

(vii) Lag in payment of overheads is one month.

20% of the production is sold against cash. Cash in hand is expected to
be ¥ 60,000. It is to be assumed that production is carried on evenly,
throughout the year, wages and overheads accrue similarly and the time
period of 4 weeks is equivalent to one month. 20

(b) T FOHT AT Bl JF T 1,00,000 & | FHFOH F GSft g F Feor o St ST F,
St o 1 TR T 4,00,000, 10% AT i & o 3™ F w9 & ] | I F HA
3l e ST ISt Bl AT 12:50% @ | ST 6 o gt 3 sft 7 et AT, 8
3T IUNTH o JF=id 1 T | 3 =0T BT T 1,00,000 & T T ST A7 9
fe ST, shoeft % e we ST geft i o TG T Y S ST S STER
THIS T 2
A company has earnings of ¥ 1,00,000. The capital structure of the
company contains debt as well as equity in which debt is of ¥ 4,00,000
borrowed at the rate of 10%. Presently, the cost of equity capital of the
company is 12-:50%. Find out the total value of the company and the
overall cost of capital using Net Income approach. If debt is increased or
reduced by ¥ 1,00,000, what will be the effect on the value of the

company and on overall cost of capital as per the Net Income
approach ? 15

PHKM-U-LOW 15



(c)

Q8. (a)

(b)

(c)

PHKM-U-CON

et ferefiar gomredt # smroft famfier SIS SusHtoT U Ta OT IUHON i ferereT
IS | | & STgEd IaTeT i |

Discuss the leading financial market instruments and innovative
debt instruments in the Indian financial system. Also give suitable
examples.

Wﬁﬁam%wwsﬁwaﬁm|@mmsﬁw'

forefier omreft 37k 39 Y@ STeE i eIiar g |

Explain the key classification of the Indian financial system. Make a
diagram that depicts the entire financial system and its key components.

“3{T$ TR 1 U 3 Tdve vd fearor & s § Sfiar SevT a5 oSt ¥ 9 W 17 39 HUA
F ST §, Sfiad Ud STy ST o UL ST bt faraeHT hiforg | Ty € sm Hey |
LRI e Tgelt sl TSy |

“The insurance industry in India is growing very fast under the direction
and control of IRDA.” In the light of this statement, discuss the
emerging trends in life and health insurance. Also explain the
government policy initiatives in this regard.

w fafamior & # wefsfier g5t wee et afonfya i | swrivfer gS & @
SIE - T § 2 e AT WS H ATerg= Yot @ Thal Jeit T
e TEdre ?

Define working capital management in a manufacturing firm. What are
the key components of working capital ? How does inventory
management hold importance over cash management in modern
business organisations ?

/4
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